
*P72839A02044*

D
O

 N
O

T W
RITE IN

 TH
IS A

REA
 		

D
O

 N
O

T W
RITE IN

 TH
IS A

REA
						





D

O
 N

O
T W

RITE IN
 TH

IS A
REA D

O
 N

O
T 

W
RI

TE
 IN

 T
H

IS
 A

RE
A

 		
D

O
 N

O
T 

W
RI

TE
 IN

 T
H

IS
 A

RE
A

						





D
O

 N
O

T 
W

RI
TE

 IN
 T

H
IS

 A
RE

A

20

  

10.	

O

y

x

C

BA

l1

l2

Figure 4

	 The line l1  has equation y x� �
3
5

6

	 The line l2  is perpendicular to l1  and passes through the point B( , )8 0 , as shown in the 
sketch in Figure 4.

	 (a)	 Show that an equation for line l2  is

5 3 40x y� �
(3)

	 Given that

•	 lines l1  and l2  intersect at the point C

•	 line l1  crosses the x-axis at the point A

	 (b)	 find the exact area of triangle ABC, giving your answer as a fully simplified 

		  fraction in the form p
q (5)
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